Negative numbers (4 operations)

Task 1 (Multiply or Divide!)
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Task 2 (Add or Subtract!)

Name

Task 3 (Mixed gestions)

—2x3 7-4 —5x3
3x-4 -5-4 —4x3-2
—2x-1 —5+3 12(3-4)
4+-2 —3--10
+(-0. 2
8x_7 ] 10 5 0.5)+
2(-3) ~19+14 (—3)3
~10+-2 —3+-8 (-2)
—24 —%+ —121 ~2(-3)+4
3 25— +7 —2(3a)
~7(-5) 3-12 Four multiplied by
—3x13 (-3)+1 negative two gives...
16 4+(=3) Lr;/c;%ase negative 8
-4 . .
~2(16) _i 4?_17 Write down the
8-> number that is one
3x-19 1_7 __4 less than negative 6.
—100+-2 — Write down what 9
ox—11 43+-7 lots of negative 7 is.
—48 12+ (-11) Add negative seven
2 —5-+11 to five.
Ax_1 —24-24
40=5 4+(-11) Task 4 (Fill in the blanks)
~2(100) ;g _12101 ——
—8x-15 > :1‘2 3x___=-15
—-3x18 91419 ___+9=-3
—40+8 =5 __+(-4)=3
—13X—11 _12__13 12+_ =4
10+-5 43_2
19) 1+(-17) Task 6 (Wordy questions)
—1+-2 1--1 Fred is overdrawn in
‘2(‘8) 14-19 his bank account by
—8x—6 13-(-12) £23.75. He spends
-3x-2.5 5-+10 another £14.25 on
—18 2_110 food. By how much is
S —19+14 he now ovlerd_rawn?
1000+ 20 305 Samir is playing a
12--101 game. He scores 1
_2(_1) (—12)+1 point for winning, 0
40+20 for drawing and -1 for
1.5(-3) —3-11 losing. He plays 5
—24—-24 .
60=_3 games, winning 3,
= _7 15-+143 drawing 1 & losing 1.
—9x— —212—-195 (a) Write down his
—8x0.5 —0.8-(-0.9) total score for the 5
10(-11) —4—(-1.5) games.
10+--0.5 01——04 (b) He is now allowed
—0.5x-0.5 03-04 to take away his worst
—6 0—(-1.9) score. Calculate his
—4 new total score for the
0.08—(-0.002
—8x—6x2 ( ) 4 games.




